1N

3X]

KYBEAE FRHT ¥
12 F&ERRAY P FRFAEFTHREFHAY -
RRE s (e X ]
R CRTIRREEw T F 1122087 01 p A KAFR
F % 1120096847 5L -
AALE 0 RARFRF AR RE R 2 Y R RELK
Faoie > e g " F 2 FY RF v A2 54 o
TR AR FFEERF I HB T2 AT YN
NECACE SEE SR N
ApeE e KT NEAR B DT S
KppE e R L EAEY RE B
FAUH R RA ) ERBRE AR (F NS AR FY

B I F HKEF -



= Y HARET AT

l.

PE 11210 26p (BHT)

BB R PHAS ZARE

3. AT N A5 1 4151644
4. X fir 504
5. %A% ¢
P AL i
08 : 30-09 : 00 3R 3
. . FY¥HERHEFELHKH e
09 : 00-10 : 30 2e 12 50 P ok e
& B PP
10 : 30-10 : 40 k4
10:40-12:10 | RIKF—FKHERAFE A SR
12:10-13: 10 = R (BY R RH&EART)
4 — M2karaN €3 - 24 IS HE
3i10-14:40 | REFRF-TFEEAEH A | WA SR
i - 2 7 3 3 3T
14 : 40-14 : 50 k4
BERE— T I®8A€H 7 ek b
. - . F. 3 i3
14 : 50-16 : 20 PO IEN g
16 : 20-16 : 30 k4




16 : 30-17 : 30 FE R P IR FP

AR AR L
()R LB L2212 18p (B Hp - )F 4> 2113812 22p (B 8- )&
1o D 2 RKEFAREY TR AR L
(http://wwwl.inservice.edu.tw) °
(C)REHARIBEL 200 (AT )W 47 FHAF = AT N
4151644
(Z)° 3R &8 B P2 JEFF FIRFR L 3em &2 $4c 0 35t 113£ 17 24p
(& ¥ = )% % 3 (hsiung7811@gms.ndhu.edu.tw)£ 5 12§ B2 58818 3R &
FRET -
XA ERE FRRABEFREG > FEPELEE 7T/
1 AR ER
(—) F EHARDARSE T R FHARE Y Y 0 PPV RS

B o

4
P
:T.‘_z

°

(Z) 58mEE> FFp ARG~ o R
;

(Z) &H= A RBBD & bflr « g

I
o




PREEEZRIEILN

DEERE-F - EE HERE LD
Bkl d PR R D AR Z 12058

ZM PR > B R = R

AKHIZE

RGBS [HEBOP R ) Wi 2 A W A -

5 12 RN A AT 20~ 3047 B > VAT HEAIE <

LEERZEIE ¢ 6~ 8~ O EAEEE) ~ 12~ 14+ 153265 29+ 35 70 ~ 71~ 82+ 99 + 108(EERH) ~ 132 ~ 201 ~ 304 ~ 307 ~
324 ~ 500 ~ 700 ~ 901 B 2% H LA

2RI < 21 ~ 1058 AL -

SHEHEI 1~ 25+ 61 ~ 73~ 301 ~ 303 + 308 ~ 326%% EIEAKER o

4R 1 55 ~ 203 ~ 280 ~ 285(&H1 ") ~ 286 ~ 288 + 289 ~ 008K FLIRAE I

SEMEE ¢ 5 SBERERAIR -

BSR4 -

o v e R b S MBI A B 2 AR A o A TRAY LNRF R AR -

150G ERARPEATE - WA P — P BB ARG AR - RES P TIESATE [RhREAR) -
267 AL - SURPHLA S A P — 8 R 2 TR BT

TOHTEAHL : SRR A P — ) B A FRR) o B TR REEAR ) T -
B2ATTWLAYHL W8 P —Ki > 2 [ 3ep BB RS YR H -

IOTTHE AL © SHBHE A B—W e P —HOEI > & T3P REER R BT -

CHE -
B

()95 B Ph) 3 AR — T 58 P o 178 7 ) — e — ) T B — ) = B = B A ) AR
i -

(@) ) 3 AR — T 28 A — o VB — B — ) TR — A ) 2 — B — Ao s T ot — AR -
()R R ZE AR 32— T TR ) = R = B G ) AR -

2. B3¢ -

EHE R WA > T 38 WA A 17 7 1) — o — M S — (A ) T — ) = R = B (1) AR
L

3PN BRTASE ~ IR 6 3R 1 44 4 LI i T T PTG AR

HEFEN

I o BEbHE |




